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( Initialize )

[ Calculate s = g°-(an” + an™+ ar") ]"‘

l

Calculate 5=( I+ IV ' * I [v—f(B) ]
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- A= 1.022, -0.98, 0,017,
0.015, -0.008, 0,995,
0.003 0.01,

0.04, 0.033,
-1.008, -0.029,
0.018, -0.017, 1,

T’I(Z)Ll\/h&

I = eye(l2);

0,019,  0.723, 0.747, -0.679, -0.69,
0.007.  0.708, -0.698, -0.722,  0.698,
-0.996, 0.007, 0.012, 0.014, 0.01,

0.738, 0.729.,  -0.689,
0.015, 0,013, 0,
0.699, -0.705, -0.703,

= Matlab%_l’. TV -

-0.676, 0.019, 0.011, 0.02
-0.004, 0.69%4, 0.709, -0.
0.718, 0.714,  -0.699, -0.

9, 0.04: ...
704, -0.7

)
=3

e}
=3

714, 0.68Y9: ...

[oe)

l

XY

LK

NO

[ E(Bx+0)| = e

60 —
61
62 — N = size(A, 2);
63

64

65

v 66
67 — saveLens = 0
68 —
69 — lamda =

70

71— u = 10;

72— for 1 =1 :N

73 % noiseA(:, 1) = inv(K) * refA * A(:., 1) + B:

74— abs(eq e(rX, A(:, 1), 1
75—

T’I(3)L|\/|’F>a

efA));

NO

# Matlab#% ;¢ -2

L J T — for Xk =0 : 300
78 % error? =0;
_[ Mes1= Ak ] 79 — gradientE = zeros(12, 1);:
80 — gradient2E = zeros{12, 123
gl — for 1 =1 :N
82 % error? = errord + eqg e(X. norseA(:, 1), refA)y"2;
833 — gradientE = gradientE + 2 * (-eq e(rX, A(:, 1), refA)) * eq Ge(rX., A(:. 1))":
> ‘ r Ny Y. v i 84 — eradient2E = gradient2E + (2 * eq Ge(rX, A(:, 1)) * eg Gel{rX, A(:., 1))+(1*lamda));:
[%](1) LM%IE‘L,_L‘T; } = mz’ Aq /”L%_E_[%_] 85 — end
56
a7 — Delta = inv(egradient2E) * gradientE:
a8 %X = X - alpha * corr:
89
90 — fori=1:N
91 % noiseA(:, 1) = 1inv(K) * refA * A(:, 1) + B:
I\/IEIVIS S 92 — F=eqel((rX+Delta) . A(:. 1), refd):
ensor . 93 — end

N 94
95 — i1f abs(F) < E
96 — rX=rX+Delta;
97 — 1f abs{Delta) <e
98 — break;
99 — else
100 — lamda=lamda/u;
101 —

i

F@)LM}e 2
Y Z ki

'+ Matlab#% 5\ -
X Y [/

\

TR

-4.815, 0.258, -8.392, -4.815, 0.258, ~8.392
-4.814, 0.258, -8.387, -4.814, 0.258, -8.387
-4.810, 0.256, -8.386, -4.810, 0.256, -8.386
-4.8689, 0.255, -8.386, -4.809, 0.255, -8.386
-4.811, 0.254, -8.391, -4.811, 0.254, -8.391
-4.81%4, 0.259, -8.393, -4.814, 0.259, -8.393
-4.818, 0.256, -8.396, -4.810, 0.25%6, -8.396
-4.814, 0.258, -8.402, -4.814, 0.258, -8.4082
-4.811, 0.255, -8.401, -4.811, 0.255, -8.401
-4.813, 0.257, -8.399, -4.813, 0.257, -8.399
-4.818, 0.254, -8.397, -4.810, 0.254, -8.397
-4 811, 8.254, -8.397, -4.811, 0.254, -8.397
-4.810, 06.251, -8.394, -4.818, 0.251, -8.394
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